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Use the part-part
shown above to- mowve
into- the abstract,
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and thery count on to- the smaller number | bxa,|to
find the answer.
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Pub 4 and, 6 together to make 10. Add,
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Following on from making |0, make 10
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Add, together three groups of objects. Draw a
picture to- recombine the groups to- make [0.
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Combine the two numbers
that make 10 and then add,
orv the remainder.
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After practicalliy using the base, 10 blocks and, place walue
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Calculations
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Add, up the units and, exchange 10 ones
for one 10.
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Add up the rest of the columns,
M\anging/ﬂ'wm counters from one
unbil, emeny column has been addeds

This car also be done with, Base 10 to-
hﬂlpd’\ildx\erudbar{gse@ﬂ'wbmone&
WL|Mmd|Ofen&equ|OO.
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Subtraction
Concrete Pictorual
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Use counters and, move them amay, fromy
the group as yow take them ameay
counting backwards as yow go.

Count back onv @ rumber line or number tracks
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Compare amounts and objects to find the
difference.
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Comparison Bar Models

Lisa is 13 years old. Her sister is 22 years old.
Find the difference in age between them.
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Drame bars to- PA
find the

difference

bebweery 2 numbers.

If 10 is the whole and, 6 s one of the
par\t&Whabl&ﬂ'woﬂwpwt?
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Use a, pictorial representation of objects to- show the part
part whole model.
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Make 14 on the ten frame. Takeawagzth@
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remaining & sogowha,ve’wkmawag7 altogether. Yow
harme reached Your answer:

How many do- we take off to
reachs the next 107

How many do- we hanve left to
take off?

Drame the Base
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UseBase|Otostw\tw(ﬂwbefor\emovmg/
onv to place value counters. Start with one
with, 2 exchanges.

Make the larger number with the place
value counters
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Calculations
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tﬁﬂ&edﬁihd/? I need to- exchange one

Now- I car take away eight tens and,
complete: my subtraction
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Showe childrern, how the: concrete: method,
working. Cross outs the: numbers when

exchanging and show where we wirites our
new amount.

child understands the method, and knows wher to-
exchange/regroup.




Concrete

Abstract

Use practical activities to- show how to

double 4is 8
4x2=8

double @ number.
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recombining it back together.

—

0y, 8N WM Wg, 8
% /ﬁi & N\) 7\ /‘7\/1

@ S d

A VA Vs LW, N Vi \

) 5 0 13 2 2% 10

Use @ number line or pictures to- continue support in
counting i multiples.

Couni’/lrumwiiple&%ﬁa;
rwumber aloud.

White sequences withs

2, 4, 6,8, 10

5. 10, 15, 20, 25, 30




There are 3 plates. Each plate has 2 star biscuits on. How many biscuits are there?

2 add 2 add 2 equals 6

Use different
objects to add
equal groups.
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Create arrays using counters/ cubes to

Draw- arraye irv different; rotations
bo-find, ok o
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Use arv array, to- wiite
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Show the link with, arrays to first Children, cany represent; the, works they hawe done with, place: | Start with multiplying by
value counters v o way thal they understand. one digiy numbers and,
They can draw the counters, using colours to- show clongeide the grid.
different; amounts or just use circles irnv the different, columns X 30 5
to- showe their thinking, as shown belows. 7 | 210 | 35
e ~ 210 + 35 =245
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Move/orutoplaoevcluzoounte:\s/foshow

how- we are finding groups of o
rumber:We are multiplying by 4 so- we
need; & rows.
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Add, up: each column, starting with the
ones making any exchanges needed.
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Children canv continue to be supported, by

It is important ab this stage that, they

Bar modelling and, number lines can support learners whery
waittery methods.







Pictorial

$$ B3
£ $$

8.2-4




Diride quantities into equal, groups. Use
cubes, counters, objects or place value
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Dwvide 28 into- 7 groups. Hows
manxd,amwmgmup?
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show o remainder
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